Thursday, December 17, 2020
5:41 PM

Session 2020-21
MODEL QUESTION PAPER

CLASS Xth
MATHEMATICS (REGULAR)

Time Allowed : 3 Hours Maximum Marks : 85
favre fordor -
Special Instructions :
1. WY o TR 30 T W U9 TR 9Y-T9 T 9 T B, TR
g W & yv7 W feraa st 7
While Answering your questions, you must indicate

on your answer-book the same question number
as appears in your question paper.

2. UT% YR ST-YfEdeh % == | Heor siferg
Graph paper must be attached in between the
answer book pages.

3. T ATet WAl ST A At
Drawing diagram of geometrical questions is
compulsory.

4. 997 T W 45 Ul B 4 @Sl A, 9, W, T H oA 0T | Iwd
T - A H YT TN 1 H 12 7%, T WA 1 S 9 €,
o | 12 10 A & I T @ve - 98 w9 T 139
22 T TOIF WA 2 SH H1 8, TTH A HE T TAFA S 1T
- WY T 23 ¥ 38 T Word WA 3 et ot ¥, foe
Y& 12 991 FH T 1 @9 - T H Fol w9 9@ 39 ° 45
T, TAFE YA 5 Sl A 5 I T A wE 5y FH B
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Question paper consists of 45 questions divided into
four sections A, B, C and D. Section ‘A’, from
question number 1 to 12 of 1 mark each, out of
which you have to attempt any 10 questions.
Section - B from Q. No. 13 to 22 of 2 marks each,
out of which you have to attempt only 7 questions.
Section - C from question no. 23 to 38 of three marks
each, out of which you have to attempt any 12
questions. Section - D from question no. 39 to 45 of
5 marks each out of which you have to attempt any
5 questions.
Tug - I (Section-A)
(w9 g 19 12 0% gk wed 1 &bl 61 &, 39 | i3 10 w9
F1)

(Question No. 1 to 12 carry 1 mark each, do any 10
questions from them.)

1Ly 12 iR 15 H.CF € : 1

(a) 3 (b)5 (e)7
H.C.F. of integese 12 and 15 is:
(a) 3 (b)5 ()7

2. Teoma TR qu” + b + ¢ =0 T T 1 ATRA BN ]
-b d
(@) =2 b = © =
a a a

In a quadratic equation ax” +bx+c¢ =0, then sum

of roots will be

& = ) < @z
a a a
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b
3. Yfige gt 7 § =ty %ij,ﬁaﬁmﬁmﬁs’ﬁm
1
(a) srafifad w9 § s

(b) oA TF
(c) 1% &l

dy b
In a pair of linear equation if d% = b‘% , then system

of equation will have
(a) Infinitely many
(b) Exactly one

(¢) No solution

4.fgemd "HIHI ax’+bx+e=0 W fafasgw:

D=, —4ac 1
(a) c? (b) b2 (c) x2
In a quadratic equatio dx* + bx + ¢ =0 , discriminant
R -dac

(a) c? (b) b2 (c) x2

5 AP.3,1,-1,3 ... F GE-30 (d) ¥ : 1
(a) 2 (b)-2 (c) 3
Common difference (d) of A.P. 3,1, -1, 3 ........ is
(a) 2 (b)-2 (c) 3

6. TEATTITE W94 o SR, (5)% +(12)° ......... 1
(@ (132 (b)) (14)? (c) (17)2
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According to Pythagorus theosem, (5)° + (12)*

(a) (13)2 (b) (14)2 (c) (17)2
7.9sec’ A—9tan® A TR T : 1
(@)1 ()9 ©0

9sec” A-9tan” A is equal to :

(a) 1 (6)9 (c) 0
8. 70 Wi a1 fogail W e ol W@ FEerdt | 1
(a) e (b) T3t T@n (c) B

A line intersecting circle in two points is

called..........
(@) Chord (6) Tangent (c) Secant
9. ®Ie® | T3y Tet v1=8 1 w4 Fed g e T =1 vl -

A A B T | (HHEY, HalEH) 1
Fill in the blanks using correct word given in
bracket :
All squares are ............ (Similar, congruent)

10. S =1 3 € 1
(a) 7r*h (b) %m‘zh ) %m‘%

Volume of eylinder is :

, 1 P)
(@) 7r2h () gﬂ'r2h () gfrrzh
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11. 5= E =t wifgeran + == ‘B 7=t Wieedl = oo g1

(a)0 (b)1 (c)-1
Probability of an event E + Probability of the event
‘not B’ = ... :
()0 (6)1 (c)-1

12. f=o R o1t 90 % 9 feorge 1 doe fogam o po €,
Frfafaa € - 1
(@) 150 «27R  (B) SgoxzzR () %X%ER

Area of a sector of angle p (in degrees) of a circle

with radius Ris :

«27R  (b) 2 x27R  (¢) 2

(@) P P
180 360 720

x27R

Tus -9
(Section - B)
Y W 13 9 22 TF WO U 2 FF FH eI T A FE 7w
HiTemd |
(Question Nos. 12 to 22 carry 2 marks each and attempt
any 7 questions out of them.)

13. 9 e E fafa g 12, 15 3w 21 M H.C.F. 3R L.C.M.
Elfedisl B
Find the H.C.F. and L.C.M. of 12, 15 and 21 by
applying the prime foctorisation method.
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14. 589 4s% —4s+1 % I A R | 2
Find the zeros of the polynomial 4s* —4s+1

15. fagai (2,3) &R (4,1) & &9 i g 7@ F4 | 2
Find the distance between the points (2,3) and (4,1)
2

16. 35 fag % fwie @@ wifey 1 foge (-1,7) i (4,-3)
1 e a1l YErEve @t 2:3 & s o faarf e €

2

Find the co-ordinates of the point which divides
the join of (-1, 7) and (4,-3) in the ratio 2:3. 2

17 sinA=% a cosSA & tan A Wmm%ﬁml

2

. 3
If sinA = 1 calculate cos A and tan A.

18.7fs P(E) = 0.05 & @ ‘E &1’ =t wifssan 3 wifam |
If P(E) = 0.05, what is the probabilitys of ‘not E’ ?
2
19. T 991 § 3 o, 5 FIel 1% & 139 99 § ¥ U 1% agesd
TremTelt STl & SRt @ Wit ® T 9 (1) = 8 (i)
et el &2
A bag contains 3 red and 5 black balls. A ball is
drawn at random from the bag what is the

probability that the ball drawn is (i) red ? (ii) not
red ? 2
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Zo.ﬁmﬁﬁmmmamﬁq%vﬁﬁﬂm% Eql

YT YU WG § A1 SFEi S |

Without actually performing long division, state

. 17 L
weather rational no. 5 will have a terminating

decimal expansion or non terminating repeating
decimal expression. 2

21. 2tan”®45° + cos” 30° - sin” 60° &1 WA Frpferg) 2
Find the value of 2tan” 45°+ cos” 30° —sin” 60° 2
22. 7.6 cm. w1 T TEEvs Wity AR =H 5:8 I H fawnfaa
RIS | AT 9T Rt I |
Draw aline segment of length 7.6 cm. and divide it
in the ratio 5:8. Measure the two pairs. 2
oug - |
(Section - C)
WUE - | H Tv HeEA1 23 | 38 7 oS U 3 iR g A H A A
T 12 79 it |

Section - ¢ consists questions from 23 to 38. Each carry 3
marks each. Attempt any 12 questions from them.

23, TR e
2¢+y =6
4x — 9y = 4 1 THR Tafy § gor witaw) 3
Solve the following system of linear equation
graphically :
2x+y =6
dx — 2y =4
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24. fr=1 Y T g =1 wfaeer fafy g/ g St i3

x+y=14
x—y=4
Solve the following pair of linear equations by the
substitution method. 3
x+y=14
x—y=4

25. fest ALP. %1179 9% 59 10 o 93§ 7 siferek & 1 et
I T hife | 3

If 17th term of an A.P. exceeds its 10th term by 7.

Find the common difference.

26. wragtaer fag Fifag : cos A +1+SmA:23ecA

1+sinA cos A

cosA 5 1+sinA
1+sinA cosA

27.x - 8 R =g fog 7@ wifsw =1 (2, -5) &R (-2,9) ¥
T T | 3
Find the point on the x-axis which is equidistant
from (2, -5) and (-2, 9)

28. ABC w* wwfgarg faue & fowesm # ¢ s © fag
Fifwe fie AB2 =2AC2 1 3
ABC is anisosceles triangle right angled at C. Prove

=2secA 3

Prove the identity :

that AB? = 2AC?
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29. smta #, 9t TP, TQ = O =t &l 3a W =1 T T
TyER § fF L POQ=110° @ LPTQ R 7|
(a) 60° (b) 70° (c) 80° (d) 90°

In figure, if TP and TQ are two tangents to a circle
with centre O so that ~POQ =110° then /PTQ is

equal to
(a) 60° (b) 70° (c) 80° (d) 90°

=T

30. 5cm oo 1 ©F 99 W UE 1 =yl W@ gitey S e
60° % IV T HHT B | 3
Draw a pair of tangents to a circle of radius 5 em.
which are inclined to each other at an angle of 60°.

31. U =t i e =1 g2 forhl o 14 4. 139 g€ ga

5 fire o Ifaa awa 9@ Hie |
The length of the minute hand of a clock is 14 em.
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Find the area swept by the minute hand in 5
minutes. 3

32. Rt #R % 3 TRW (wipers) T WER FHT TR 76l
T € WoI AT I T H oA 25 WAHT § S 115° %
I T FH HL HEREE FHT WHA ¢ | Il B AF RN F
T fSIe St | € ST 8, 9% 1 it |
A car has two wipers which do not overlap. Each
wiper has a blade of length 25 cm. sweeping
through an angle of 115°. Find the total area.
Cleaned at each sweep of the blades.

33. U U 1 TF =W Henl o1 § FretatEd w1 9| w5 R
WIferRaT T I |
(1) T AT F=A1 (2) 2 3T 6 & =9 feya lE T (3)
= foww T
A die is thrown once. Find the probabilitys of
getting 3
(1) a prime no. (2) a number lying between two and
six (3) an odd number.

34, A T4 RIS

sin 30° + tan45° — cosec 60°
sec30° + cos60° + cot 45°

Evaluate :

sin 30° + tan45° — cosec 60°
sec30° + cos60° + cot45°
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35.

36.

37.

38.

10 m. ¥= TF Hel TF SER W fowe = g & 8 W =t
FaE W oo wk fagst 7 wge € | <A & SR 9 it
& fr=ret ol =61 g 9 whifsr

A ladder 10 m. long reaches a window 8 m. above

the ground. Find the distance of the foot of the
ladder from base of the wall. 3

BT HHILT 942 _ 3y + 5= = qal 1 FPfd 70 F
Find the nature of the roots of the quadratic

equation 2x? —3x+5=0 3
AP :38,13,]18...... T HME T 78 T
Which term of an A.P. 3,8,13,18........ is 78. 3

TF g AR, T F g0 F FX W 5 UAHL T R T 99 W
T F1 T 4 WA T g0 F W F e
The length of the tangent from a point A at distance
5 cm. from the centre of the circle is 4 cm. Find the
radius of the circle. 3
E©us -7
(Section - D)

¥ HEA 39 H 45 T TE W 5 R 1 E, T A FIE S5 T HL
Questions Nos. 39 to 45 carry 5 marks each. Do any 5
questions from these questions.

39.

Teh LETST Tk T 91 9 360 fohetries #1 g 7 FLdl € |
Ifs 78 =19 5 kmvh Afaes g1, T 98 SH A H 1 5 A
T Tl | ITFTET SRl =6l 91d RN IA trian travels 360
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km at a uniform speed. If the speed had been 5
km/h more, it would have taken 1 hour less for the
same journey. Find the speed of the train. 5

40. 4fir & 60 HY. 1 S9E W TH w6 I W@ E | g1dH ot SR
&1 ST w0 9 4t F s fog F wiw R 2 yfa F
Tl SR 1 G 60° T | TE WH FL A SR H FIE et TEl
¥, S & S 9 S
Akite is flying at a height of 60 m above the ground.
The string attached to kite is temporarily tied to a
point on the ground. The inclination of the string
with the ground is 60° find the length of the string,
assuming that there is no slack in the string. 5

41. TF THF I 599 § ol 1 9 909 S e F 9l % A
TR B © | fag wifsw)

In a right angle triangle, the square of the
hypotenuse is equal to the sum of the squares of
the other two sides. Prove it. 5

42. 37 AT FATEF TONE [0 R (7R 3 1 AT 365 7 |
Find two consecutive positive integers, sum of
whose squares is 365.

43. 31 =, fom ek 1 STaa 64em® ¥, % Hord ekl i
TRt U S T ST E | SHE U T S Y S
Elicad
Two cubes each of volume 64 cm? are joined end to

end. Find the surface area of the resulting cuboid.
5
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44, Frefafaa ol fHet aeedt % 25 RER # H9F W 3T

¢.ﬁ mﬁ [ Y %\_ :

3fer =13 [ 100-150 | 150-200]200-250 | 250-300 | 300~ 350
(Tt )

ofigrl w1 4 5 12 P) 2
T

WIS T g HIEA T I hIrA |

The table below shows the daily expenditure on
food of 25 households in a locality.

Daily exp. [100-150 | 150-200{200-250
(in Rs.)

250-300 | 300- 350

No. of 4 5 12
households

Find the mean daily expenditure on food.

45. = fea gan sz weh e % 30 e 1 R el w

farenfer=i =1 AreAeR YR S FIOT
R (o7 311 {4045 [45-50 | 50-55 | 55-60 | 60-65[65-7070-75
)
faenfern | 2 3 8 6 6 | 3 2
F1 ==
The distribution below gives the weights of 30 students
of a class. Find the median weight of the students.
Weight  |40-45|45-50|50-55| 55-60 [ 60-65|65—70|70-75
(in kg.)
No. of 2 3 8 6 6 3 2
Student
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